
■ つぎのわり算をしましょう。

① 6474 ÷ 13 ＝

筆算しよう

④ 1128 ÷ 94 ＝

筆算しよう

⑦ 2352 ÷ 56 ＝

筆算しよう

② 3874 ÷ 26 ＝

筆算しよう

⑤ 8965 ÷ 11 ＝

筆算しよう

⑧ 5882 ÷ 34 ＝

筆算しよう

③ 8672 ÷ 32 ＝

筆算しよう

⑥ 4488 ÷ 33 ＝

筆算しよう

⑨ 1485 ÷ 99 ＝

筆算しよう

わり算の筆算
年 組 名前
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■ つぎのわり算をしましょう。

① 6474 ÷ 13 ＝

1 3 6 4 7 4
5
1
1

4

2
2
1
1
1

9

7
7
0
0

8

4
4
0

498

筆算しよう

④ 1128 ÷ 94 ＝

9 4 1 1 2 8
9
1
1

1

4
8
8

2

8
8
0

12

筆算しよう

⑦ 2352 ÷ 56 ＝

5 6 2 3 5 2
2 2

1
1

4

4
1
1

2

2
2
0

42

筆算しよう

② 3874 ÷ 26 ＝

2 6 3 8 7 4
2
1
1

1

6
2
0
2
2

4

7
4
3
3

9

4
4
0

149

筆算しよう

⑤ 8965 ÷ 11 ＝

1 1 8 9 6 5
8

8

8
1
1

1

6
1
5
5

5

5
5
0

815

筆算しよう

⑧ 5882 ÷ 34 ＝

3 4 5 8 8 2
3
2
2

1

4
4
3
1
1

7

8
8
0
0

3

2
2
0

173

筆算しよう

③ 8672 ÷ 32 ＝

3 2 8 6 7 2
6
2
2

2

4
2
2

7

7
4
3
3

1

2
2
0

271

筆算しよう

⑥ 4488 ÷ 33 ＝

3 3 4 4 8 8
3
1

1

3
1
9
1
1

3

8
9
9
9

6

8
8
0

136

筆算しよう

⑨ 1485 ÷ 99 ＝

9 9 1 4 8 5
9
4
4

1

9
9
9

5

5
5
0

15

筆算しよう

わり算の筆算
年 組 名前
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